



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$\left(\frac{1}{5}\right) + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{6}\right)^0 - \frac{1}{2} =$$

$$\left(\frac{3}{4}\right)^0 - \frac{1}{6} =$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{2}\right)^2 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{5}\right)^{(-1)} - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{3}\right)^{(-2)} - \frac{3}{4} =$$

$$\left(\frac{2}{5}\right)^2 + \frac{3}{4} =$$

$$\left(\frac{1}{5}\right)^0 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{3}\right)^{(-2)} + \frac{1}{5} =$$

$$\left(\frac{1}{3}\right)^{(-1)} - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^{(-1)} - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{2} =$$

$$\left(\frac{1}{5}\right)^{(-2)} + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{2}\right) + \frac{1}{3} =$$

$$\left(-\frac{1}{6}\right)^2 + \frac{1}{2} =$$

$$\left(-\frac{3}{5}\right)^{(-2)} - \frac{3}{5} =$$

$$\left(\frac{2}{5}\right)^{(-2)} + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{3}{4}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{1}{3}\right) =$$



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$\left(\frac{1}{5}\right) + \left(-\frac{1}{5}\right) = 0$$

$$\left(\frac{1}{6}\right)^0 - \frac{1}{2} = \frac{1}{2}$$

$$\left(\frac{3}{4}\right)^0 - \frac{1}{6} = \frac{5}{6}$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{2}{5}\right) = \frac{13}{20}$$

$$\left(\frac{1}{2}\right)^2 + \left(-\frac{2}{5}\right) = \left(-\frac{3}{20}\right)$$

$$\left(\frac{1}{5}\right)^{(-1)} - \left(-\frac{1}{6}\right) = \frac{31}{6} = 5\frac{1}{6}$$

$$\left(-\frac{1}{3}\right)^{(-2)} - \frac{3}{4} = \frac{33}{4} = 8\frac{1}{4}$$

$$\left(\frac{2}{5}\right)^2 + \frac{3}{4} = \frac{91}{100}$$

$$\left(\frac{1}{5}\right)^0 + \left(-\frac{3}{4}\right) = \frac{1}{4}$$

$$\left(-\frac{1}{3}\right)^{(-2)} + \frac{1}{5} = \frac{46}{5} = 9\frac{1}{5}$$

$$\left(\frac{1}{3}\right)^{(-1)} - \left(-\frac{3}{5}\right) = \frac{18}{5} = 3\frac{3}{5}$$

$$\left(-\frac{1}{2}\right)^{(-1)} - \left(-\frac{1}{3}\right) = \left(-\frac{5}{3}\right) = \left(-1\frac{2}{3}\right)$$

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{2} = \left(-\frac{1}{4}\right)$$

$$\left(\frac{1}{5}\right)^{(-2)} + \left(-\frac{1}{5}\right) = \frac{124}{5} = 24\frac{4}{5}$$

$$\left(-\frac{1}{2}\right) + \frac{1}{3} = \left(-\frac{1}{6}\right)$$

$$\left(-\frac{1}{6}\right)^2 + \frac{1}{2} = \frac{19}{36}$$

$$\left(-\frac{3}{5}\right)^{(-2)} - \frac{3}{5} = \frac{98}{45} = 2\frac{8}{45}$$

$$\left(\frac{2}{5}\right)^{(-2)} + \left(-\frac{3}{4}\right) = \frac{11}{2} = 5\frac{1}{2}$$

$$\left(-\frac{3}{4}\right)^2 - \left(-\frac{1}{2}\right) = \frac{17}{16} = 1\frac{1}{16}$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{1}{3}\right) = \frac{52}{75}$$